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Warmup 2/(11' + (20 — n))

PLEASE GET THE FOLLOWING SUPPLIES:

7 Giant whiteboard for your group, marker, eraser
Find the missing angle.

A cab company uses the model f(x) = 2.75x + 4 to
calculate the cost of a cab ride.

1. What does the value “x” probably stand for?

4t miles
2. What is the meaning of the coefficient of x?
cost P Mile
3. What does the constant tell us? Simplify using exponent rules.
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Check Homework




Given: K is the midpoint of JL.
Prove: AJKM = ALKM




Flow-Chart Proof

Given: K is the midpoint of JL.
Prove: AJKM = ALKM

J
Reflexive Prop.
KM = KM

Given:
LJKM = /LKM
AJKM = ALKM
Given: i ]
Def. of mid t:
K is the € ;’—Kr;"ﬁ'zm"
midpoint of JL -




Two-Column Proof
Given: K is the midpoint of JL.

Prove: AJKM = ALKM

Statement

1) MK = MK

2) LJKM = LLKM

Kis the
3) midpoint of JL

4) JK =1K

5) AJKM = ALKM

J
Reason

1) Reflexive Property

2) Given

3) Given

4) Definition of midpoint




On your giant whiteboards, write a proofiD

Given: QR bisects 2PQS.
Prove: APQR = ASQR
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On your giant whiteboards, write a proof

Prove: AWXY = AYZW




Proofs Handout




On your whiteboards, write a proof:

Given: AB || DE

Prove: AABC = AEDC

[)@H PE \ Given

ey AT O

3) 8¢, 25c | Given

{
) LHALLNE Verfical £3
5) BACEADC ASA o




Write a flowchart proof!

Given: JL bisects Z/KILM
Prove: AJKL = AJML




CJT bisects éKLM)

lGiven

(LKU ~ 4/\/@
Def. of Z bisector

(zk=2m) ( =T )

Given \ / Reflex. K
Y

Prop. of =
(ake=amr) ; ,
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Proofs Worksheet




